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Exam A 

QUESTION 1 In RQM version 3, what can have execution records? 

(Choose two.) 

A. Test Plan 

B. Test CaseC. Test Suite 

D. Test Script 

Correct Answer: BC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 2 

Which database servers are supported by the Jazz Team Server? 

A. IBM DB2, Derby, MySQL, Microsoft SQL Server 

B. Microsoft SQL Server, Microsoft Access, Derby, IBM DB2 

C. Derby, IBM DB2, Microsoft SQL Server, Oracle Database 

D. IBM DB2, Software AG Adabas, Microsoft SQL Server, Oracle Database 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 3 

Which sequence represents the flow of steps that developers use to collaborate with regard to Jazz source control? 

A. checkout, checkin, baseline 

B. checkin, deliver, accept 

C. accept, checkout, deliver 

D. rebase, checkout, checkin, deliver 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 4 What are two capabilities provided by the Lifecycle Project Administration 

(LPA) application? 

A. Create a lifecycle project from a predefined template 

B. Configure email setting for notification when a work item is updated 

C. Import process template that can be used for lifecycle projects 

D. Define members to all of the project areas that belong to a lifecycle project 

E. Register applications to add to the Jazz Team Server environment 
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Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 5 Which three Reporting solutions are supported by CLM 2012? 

(Choose three.) 

A. BIRT 

B. RRDI 

C. Open Reports 

D. Crystal Reports 

E. RRDG 

Correct Answer: ABE 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 6 

Which artifact containers are pre-populated with existing artifacts by the sample application for the "Money that Matters" scenario? 

A. Requirements Management, Business Process Management, and Quality Management 

B. Quality Management, Change & Configuration Management, and Information Management 

C. Change & Configuration Management, Vulnerability Management, and Quality Management 

D. Requirements Management, Change & Configuration Management, and Quality Management 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 7 In RQM version 3, which user can make a shared test 

resource available? 

A. a user who is a member of the project 

B. a user who is the owner of the shared test resource 

C. a user who is granted permission to save and modify a project area in the process configurationD. a user who is the creator of the test script 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 8 

What do you need in order to integrate ClearCase source control with Rational Team Concert so that you can take advantage of work items, agile planning, builds, and other functions while using Rational ClearCase for source control 

management? 

A. ClearCase Bridge 
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B. ClearCase Synchronizer 

C. ClearCase Adapter 

D. ClearCase Importer 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 9 To start the RQM command-line adapter, what must you know? 

(Choose three.) 

A. the jazz repository URL 

B. a user ID with the appropriate licenses to log in as an adapter 

C. the name of the project area, if it is not the default RQM project area 

D. the path to the batch file or shell script to be executed 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 10 Which process is used to extract and load data into 

data warehouse? 

A. EDL 

B. ETD 

C. Copy 

D. ETL 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 11 Which roles comprise the leadership team in the "Money that 

Matters" scenario? 

A. product owner, project manager, test manager, and system integrator 

B. requirements analyst, developer, and security officer 

C. product owner, software architect, and business analyst 

D. requirements analyst, software architect, and security officer 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 12 What are two reasons that sharing a common Jazz Team Server repository across Jazz products is 

recommended? (Choose two.) 

A. code development enabled in a shared repository 

B. ability to report using Rational Insight 

C. common user and license administration 

D. reporting through the RRDI reporting server 

Correct Answer: CD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 13 What are the team objectives in the "Money that 

Matters" scenario? 

A. expand customer base, reduce liability, and improve customer relations 

B. reduce cost, reduce liability, and improve quality 

C. reduce cost, improve efficiency, and improve quality 

D. improve customer relations, improve efficiency, and reduce liability 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 14 Business intelligence and analytics are the cornerstone of the CLM solution. What makes CLM unique in this area? 

(Choose three.) 

A. Rational Reporting for Development Intelligence (RRDI) is an integrated part of CLM and is not a separate solution or a separate purchase. 

B. You can choose to turn on data warehouse and use a more traditional flat file system. 

C. The data warehouse, which stores both current and historical data, is at the core of the Jazz Team Server and captures and reports on every transaction. 

D. CLM Dashboards can now incorporate any RRDI reports, providing an even richer reporting experience across all of the CLM solutions, including RQM, RTC, and RRC. 

Correct Answer: ACD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 15 Which statement is true about the Lifecycle Project Administration 

(LPA) installation? 

A. LPA is available only when an LDAP is not being used. 

B. LPA is an application and must be registered during CLM setup. 

C. LPA is installed only if you activate the LPA license. 

D. LPA must be installed on a different server than the Jazz Team Server. 

Correct Answer: B 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 16 

Which two application servers are supported for CLM? (Choose two.) 

A. Oracle WebLogic 

B. WebSphere Application Server 

C. Oracle GlassFish 

D. Apache Tomcat 

E. Microsoft IIS 

Correct Answer: BD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 17 What is a characteristic of the Stakeholder 

license type in RTC? 

A. read and write access to Reports as well as the ability to author BIRT reports 

B. read and write access to Planning Capabilities 

C. read and write access to Change Management 

D. read and write access to Software Configuration Management 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 18 Which three sources can CLM use for user authentication? 

(Choose three.) 

A. browser 

B. LDAP 

C. Tomcat User Registry 

D. non-LDAP external registry services 

E. database server 

Correct Answer: BCD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 19 Which two protocols can clients use to connect to CLM 

applications? (Choose two.) 

A. ftp 

B. http 

C. http (disabled by default) 

D. https 
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E. nntp 

Correct Answer: CD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 20 What are two reasons that a large-scale enterprise deployment of CLM should have a common Jazz Team Server? 

(Choose two.) 

A. to speed up deployment of clients 

B. to reduce administration tasks 

C. to allow for cross-project traceability 

D. to improve scalability 

E. to increase the number of application servers used 

Correct Answer: BD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 21 What are three characteristics of an environment that should usually use a content caching proxy server? 

(Choose three.) 

A. high volumes of builds 

B. poor client performance 

C. poor build server performance 

D. poor WAN performance 

E. high volumes of version control operations 

Correct Answer: ADE 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 22 What are two characteristics of the Contributor license type in 

RTC? (Choose two.) 

A. full read and write access to Change Management, Report Customization, and Planning 

B. read access to Software Configuration Management 

C. write access to Automation (Build System) & Requirements Management 

D. read and write access to Test Management capabilities 

Correct Answer: AB 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 23 Which two CLM 4.0.1 products connect to the Rational Focal point 

v6.5.2? (Choose two.) 

www.vceplus.com - Free Questions & Answers - Online Courses - Convert VCE to PDF - VCEplus.com



A. Rational Team Concert 

B. Rational Quality Manager 

C. Rational Requirements Composer 

D. Rational Design Manager 

Correct Answer: AC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 24 

A project team is using the Scrum process template process lifecycle that comes as a default process template with Rational Team Concert (RTC). The team is expanded to include a solution architect to the team, and the development 

process needs to be changed so that the architect can review the requirements prior to the commencement of sprint cycles. What should be done to achieve this using RTC and CLM? (Choose two.) 

A. modify the Scrum process template by extending the work item lifecycle to include a new "State" for architecture review 

B. modify the Scrum process template by adding a new "Work Area Category" to cover the steps done by the architect 

C. configure Rational Software Architect Design Manager to initiate a design review at the start of each sprint 

D. modify the Scrum process template by adding a new "Role" for architects 

E. modify the Scrum process template by the adding a new "Reviewer Type" to cover the reviews performed by the architect 

Correct Answer: AD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 25 Which three browsers are supported for use with CLM products? 

(Choose three.) 

A. Firefox 

B. Internet Explorer 

C. Chrome 

D. Safari 

E. Opera 

Correct Answer: ABD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 26 Which two integrations are OSLC 

based? (Choose two.) 

A. Rational RequisitePro 

B. Rational FocalPoint 

C. Rational Functional Tester 

D. Rational Asset Manager 

Correct Answer: BD 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 27 

What is defined for a test cell, but is undefined for a test environment? 

A. hardware 

B. location 

C. operating system 

D. software 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 28 What are the five 

ALM imperatives? 

A. Lifecycle Traceability, Mean Time to Failure, In-context Collaboration, Development Intelligence, Continuous Process Improvement 

B. In-context Collaboration, Working Software, Real-time Planning, Lifecycle Traceability, Continuous Process Improvement 

C. Real-time Planning, Lifecycle Traceability, In-context Collaboration, Development Intelligence, Continuous Process ImprovementD. Continuous Process Improvement, Secure by Design, Real-time Planning, Lifecycle Traceability, 

Development Intelligence 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 29 What are two valid usage scenarios for integrating Rational Method Composer with RTC 

v4.0.1? (Choose two.) 

A. publishing a Work Breakdown Structure Workflow diagram from RMC as process guidance attached to RTC WI 

B. leveraging RTC SCM and Work Items for configuration and changing management of process assets 

C. publishing an RMC-generated web application that includes a published process configuration with advanced search and RSS servlet componentsD. creating roles and tasks in RTC directly from RMC 

Correct Answer: BC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 30 Which versions of RAD and Eclipse are compatible with RTC 

4.0.1? (Choose two.) 

A. RAD v8.5 onwards 

B. RAD v7.5 onwards 

C. Eclipse v3.6 onwards 

D. Eclipse v3.4 onwards 

Correct Answer: AC 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 31 

During the development and test phase of a project, the team's process requires that the architect check all changes made for a defect to ensure that the work is in-line with the solution design principals. Using the work items feature 

available with CLM, which three steps assist in making this possible? (Choose three.) 

A. define a role of "Architect" and assign it to the appropriate users 

B. for the relevant transition in the work item lifecycle, add a precondition for a "Required approval" by the architect 

C. create a work item template containing the values that are applied when an architect has reviewed a work item 

D. add a new state for the work item called "Requiring Architecture Approval", where the lifecycle will pause until the architect approvesE. insert a new Boolean field in all work items to indicate whether or not the work item has been 

checked by an architect 

Correct Answer: ABD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 32 Which two statements are true about working with client access licenses for 

CLM? (Choose two.) 

A. Licenses must be applied to a user for them to access the application capabilities. 

B. Licenses grant automatic access to a project area. 

C. Licenses are role-based. 

D. A license cannot be manually re-assigned to another user for four hours. 

E. A purchased license cannot be added to a server running trial licenses. 

Correct Answer: AC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 33 Which license type is used to support extended users such as customers, support personnel, or extended community members who want to modify work items and observe 

project progress? 

A. Contributor 

B. Stakeholder 

C. Developer 

D. Developer for Workgroups 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 34 Where must client access licenses for 

CLM be installed? 

A. the Jazz Team Server 

B. the Eclipse client 

C. the Visual Studio client 

D. the client web browser 

E. the database server 
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Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 35 When completing a plan item, which role does the test 

team provide? 

A. creates an iteration plan and chooses which plan items to target for the first iteration 

B. reviews the plan items that are targeted for the iteration and the related high-level requirements, and creates detailed requirements 

C. elaborates the test cases that are associated with the development tasks 

D. checks in their change sets and runs personal builds to test the changes in their own workspaces 

E. runs a team build, reviews the results, and tags the build as ready for testing 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 36 

When performing a design review in Rational Software Architect Design Manager, a reviewer can add and associate comments with _____. (Choose three.) 

A. any diagrams contained in the solution model 

B. any components contained in the solution model 

C. related RTC work items reflecting non-functional requirements 

D. the work item review/approval lifecycle in place for the project 

E. the packages and package hierarchy used in the model 

Correct Answer: ABE 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 37 What is Rational Reporting for Development 

Intelligence (RRDI)? 

A. a Web 2.0 based solution that can quickly create queries, reports, and dashboards using several formats including PDF or MS Excel 

B. custom reports, queries, and dashboards displayed within CLM 

C. a desktop application that generates high quality, formal documents with flexible formatting capability 

D. parameter-driven reports that provide limited customization capabilities 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 38 What are two valid usage scenarios for integrating Rational BuildForge with CLM 

4.0.1? (Choose two.) 
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A. start BuildForge jobs without leaving the RTC UI 

B. for regression testing 

C. track, control, and report on the execution of complex tasks distributed over multiple lab resourcesD. create process definitions of how a build has to be done 

Correct Answer: AC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 39 

Which three actions can be performed when reviewing a Rational Software Architect model that has been published to Rational Software Architect Design Manager? (Choose three.) 

A. annotating a diagram in the published model 

B. changing the color of a model element that is believed to be incorrect 

C. initiating an in-line discussion about the structure of a class 

D. adding a comment concerning the package structure within the model 

E. creating a copy of the model and modifying the package structure 

Correct Answer: ACD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 40 What is the fundamental unit of source 

control modification? 

A. change sets 

B. work items 

C. components 

D. streams 

E. workspaces 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 41 Which important CLM themes are covered by the "Money that 

Matters" scenario? 

A. realizing use cases and transforming diagrams to code 

B. aligning release plans, test plans, and requirements collections 

C. functional test plans and automated functional testing 

D. deployment planning and source code reviews 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 
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QUESTION 42 Which ALM imperative helps teams understand which requirements are 

affected by defects? 

A. Real-time Planning 

B. Lifecycle Traceability 

C. In-context Collaboration 

D. Development Intelligence 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 43 Which ALM imperative helps improve the team dynamic and refine toward 

greater efficiencies? 

A. Real-time Planning 

B. Lifecycle Traceability 

C. In-context Collaboration 

D. Continuous Process Improvement 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 44 Which type of server can act as a floating license server for CLM floating client 

access licenses? 

A. any Team Concert (/ccm) server 

B. any FlexLM server 

C. any CLM application server 

D. a database server 

E. a Jazz Team Server 

Correct Answer: E 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 45 Which statement is true about the reporting 

capability within RTC? 

A. RDDI is used for reporting across a project area in RTC. 

B. RRDI is a cross-repository reporting server that can generate reports. 

C. Document generation is provided upon login to RTC. 

D. Reporting capabilities can be enabled from each user's profile. 

Correct Answer: B 

Section: (none) 

Explanation 
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Explanation/Reference: 

QUESTION 46 CLM requires that which two LDAP groups be 

created? (Choose two.) 

A. JazzDBUsers 

B. JazzAdmins 

C. JazzUsers 

D. JazzBuilds 

E. JazzServers 

Correct Answer: BC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 47 Which license is available in all three CLM products (RTC, 

RQM, and RRC)? 

A. Developer 

B. Contributor 

C. Stakeholder 

D. Analyst 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 48 Rational Reporting solution report output can be exported in which three formats? 

(Choose three.) 

A. Word 

B. Excel 

C. PDF 

D. XML 

E. DAT 

Correct Answer: BCD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 49 When should a developer execute a 

personal build? 

A. before the deliver action 

B. before the checkin action 

C. before the accept action 

D. before the rebase action 
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E. before the checkout action 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 50 Which three views allow a developer to discover and manage their current work? 

(Choose three.) 

A. Work Item view with the results from the predefined query Open Assigned to Me 

B. Plan view with the current iteration's plan opened in taskboard mode 

C. My Work view with the Current Work section opened 

D. Team Dashboard view using the My Open Work Items section 

Correct Answer: ACD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 51 

Which feature of RTC supports the Development Intelligence imperative's recommended action to "Make fact-based decisions by relying on automatically generated live dashboards and reports that are based on data coming from team 

activity"? 

A. burndown chart 

B. enforcement of associating a work item to a change set 

C. role-based approval of test scripts 

D. automated linkage of user stories to requirements 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 52 

Which ALM imperative improves a team's ability to connect with each other, to respond to changing events, and to improve project predictability? 

A. Real-time Planning 

B. Lifecycle Traceability 

C. In-context Collaboration 

D. Development Intelligence 

Correct Answer: C 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 53 

Which two application servers are supported by the Jazz Team Server? (Choose two.) 
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A. Apache Tomcat 

B. WebSphere Application Server 

C. Oracle WebLogic Server 

D. Microsoft IIS 

E. JBoss 

Correct Answer: AB 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 54 When a defect is submitted from a test execution, the CLM solution performs which action 

automatically? 

A. generation of links to plan items 

B. assignment of ownership for the defect 

C. assignment of team for the defect 

D. assignment of severity for the defect 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 55 Which two applications are included in a CLM installation by 

default? (Choose two.) 

A. Rational Team Concert 

B. Rational Insight 

C. Rational Design Manager 

D. Rational Software Architect 

E. Rational Quality Manager 

F. Rational Asset Manager 

Correct Answer: AE 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 56 What must be done to install CLM on UNIX or 

Linux servers? 

A. install a Windows emulator on the system 

B. rename all X11 libraries on the system to jazz.X11.<library name> 

C. increase the limit of the number of files that can be opened on the system 

D. decrease the number of users that can access the system 

E. block access to all http ports on the application servers running on Linux 

Correct Answer: C 

Section: (none) 
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Explanation 

Explanation/Reference: 

QUESTION 57 For which two purposes does CLM use absolute 

URIs? (Choose two.) 

A. to locate clients attached to the server 

B. to act as a stable resource identification for all applications 

C. to act as a proxy for other systems 

D. to permit consistent web access to stored artifacts 

E. to reduce the size of any URL referencing stored artifacts 

Correct Answer: BD 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 58 What is the maximum amount of Developer for Workgroups Starter Pack users allowed per 

licensed server? 

A. 10 users 

B. 1 user 

C. 50 users 

D. 2 users 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 59 Which three statements are true about CLM providing linkages between applications? 

(Choose three.) 

A. Test cases can be linked to work items. 

B. Test cased can be linked to requirements. 

C. Work items can be linked to test plans. 

D. Work items can be linked to test results. 

Correct Answer: ABC 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 60 

What are three good reasons for a project team to use Rational Software Architect Design Manager to assist in the process of reviewing and approving solution designs? (Choose three.) 

A. It allows developers and designers to each update the relevant sections of a model at given points in the project lifecycle and according to a defined schedule. 

B. It allows reviewers to annotate and make comments on any of the elements in a design model. 

C. It allows stakeholders to create links from a solution design to specific requirements. 

D. It allows a team of architects to work concurrently on a solution design by locking or reserving particular sections. 
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E. It allows a team of reviewers and architects to have an open discussion displayed next to the solution designs with annotations over the document. 

Correct Answer: BCE 

Section: (none) 

Explanation 

Explanation/Reference: 
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